Rang Nr.
1. 1
2. 15
3. 6
4. 16
5. 14
6. 17
7. 9
8. 18
9. 11

10. 5
11. 3
12. 8
13. 10
14.
15.
16.
17. 12
18. 13

Paarturnier - Luzern - 04.11.2024

Ergebnis (50 % =208.0 MP)

Paar
Zoller, Marion — Hedinger, Teresa
Smith, Craig — Filali, Renata
Vock, Ute — Beylemans, Rita
Stalder, André — Bendel, Beatrice
Bilar, Pedro — Killstrom, Curt
Schoahs, Grazyna — Senn, Maria
Fischer, Verena — Paulon, Marianne
Wespi, Marlise — Schipper, Isaak
Wiist, Annamarie — Winter, Vreni
Tschopp, Denise — Hess, Rita
Wehrli-Wyss, Cristine — Nadrai, Marie-Antoinette
Gisler, Meggi — Kuhn, Monica
Wigdorovits, Jutta — van Exel, Wendela
Roth, Rita — Furrer, Ursula
Briner, Maya — Griidel, Heidy
Vital, Theres — Schilt, Carla
Heuri, Silvia — Schir, Rita
Egli-Kessler, Ursula — Wohlgemuth, Gisela

Turnierleitung: Marlise

MP
265.0
241.0
237.0
232.0
227.0
224.0
218.0
217.0
217.0
209.0
206.0
205.0
194.0
192.0
191.0
180.0
156.0
133.0

%
63.70
57.93
56.97
55.77
54.57
53.85
52.40
52.16
52.16
50.24
49.52
49.28
46.63
46.15
45.91
43.27
37.50
31.97

PV
15

— 9 O
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100 2 1.0
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